Mosaic Plot

A graphical display of cross-classified data
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“a graphical display of cross—classified data in which each count is

represented by a rectangle of area proportional to the count”
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S music = ¢(210, 194, 170, 110, 190, 406, 730, 290)

> dim(music) = ¢(2, 2, 2)

> dimnames(music) = list(Age = ¢("0Old", "Young"),
Education = c("High", "Low"),
Listen = c("Yes", "No"))

> mosaicplot(apply(music,1,sum), col = hcl(240),
main = "Classical Music Listening", sub="Age")

> mosaicplot(apply(music,1:2,sum), col = hel(240),
main = "Classical Music Listening")

> mosaicplot(music, col = hel(240), main = "Classical Music Listening")
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Adults Survivors Non—Survivors
Male Female Male  Female
1st Class 57 140 118 4
2nd Class 14 80 154 13
3rd Class 75 76 387 89
Crew 192 20 670 3
Children Survivors Non—Survivors
Male Female Male  Female
1st Class 5 1 0 0
2nd Class 11 13 0 0
3rd Class 13 14 39 17
Crew 0 0 0 0
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> par(mfrow=c(2,2))

> barplot(apply(Titanic, 1, sum), main="Economic status (class)
distribution")

> barplot(apply(Titanic, 2, sum), main="Sex distribution")
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> barplot(apply(Titanic, 3, sum), main="Age distribution")
> barplot(apply(Titanic, 4, sum), main="Survived distribution")
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Class
Survived 1st 2nd 3rd Crew
No 122 167 528 673
Yes 203 118 178 212
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Sex
Survived Male Female
No 1364 126
Yes 367 344

Age
Survived Child Adult
No 52 1438
Yes 57 654

No Yes
1490 711

R scripte= a2

> par(mfrow=c(2,2))

> apply(Titanic,c(4,1),sum)

> barplot(apply(Titanic,c(4,1),sum),col=c("lightblue", "mistyrose"),
main="Survived over Economic status (class)",ylim=c(0,1300),
legend=rownames(apply(Titanic,c(4,1),sum)))

> apply(Titanic,c(4,2),sum)

> barplot(apply(Titanic,c(4,2),sum),col=c("lightblue", "mistyrose"),
main="Survived over Sex",
legend=rownames(apply(Titanic,c(4,2),sum)))

> apply(Titanic,c(4,3),sum)

> barplot(apply(Titanic,c(4,3),sum),col=c("lightblue", "mistyrose"),
main="Survived over Age", ylim=c(0,3000),
legend=rownames(apply(Titanic,c(4,3),sum)))

> apply(Titanic,4,sum)

> barplot(apply(Titanic,4,sum),col=c("lightblue", "mistyrose"),
main="Survived",
legend=dimnames(Titanic)$Survived)
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Adults Survivors Non—Survivors
Male Female Male Female
Passenger 146 296 659 106

Crew 192 20 670 3
Children Survivors Non—Survivors
Male Female Male Female
Passenger 29 28 39 17
Crew 0 0 0 0

> temp=c(apply(Titanic[dimnames(Titanic)[[1]]!="Crew",,,],2:4 sum),
Titanic[dimnames(Titanic)[[1]]=="Crew",, ])
> dim(temp)=c(2,2,2,2)
> dimnames(temp)=list(Sex = c("Male
Age = c("Child", "Adult"),
Survived = c¢("No", "Yes"),
Class = c("Passenger”, "Crew"))

n n
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> apply(temp,3:4,sum)
Class
survived Passenger Crew
No 817 673
Yes 499 212
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> mosaicplot(apply(temp,c(1,4,3),sum),
main="Titanic Mosaic Survived over Class & Sex",
col = hel(c(240, 120)),
off = ¢(5, 5, 5))

> barplot(apply(temp,3:4,sum),col=c("lightblue", "mistyrose"),
main="Survived over Passenger vs Crew",
legend=rownames(apply(temp,3:4,sum)))
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